Five Year B.B.A. LL.B. (Hons.)/B.A., LL.B. (Hons.) First Semester
Examination, December 2013
SPECIAL ENGLISH

Duration : 2%2 Hours Max. Marks : 70

Instructions: 1. Answerall questions compulsorily.
2. AllUnits are compulsory.

3. Figures to the right indicate marks.

UNIT -1

Q. No. 1. (a) ‘No one can be a truly competent man unless he is a cultivated
man’. Explain what Felix Frank further means by this. Marks : 9

OR

How does Chekhov create a dull and sombre atmosphere for
the holding of Harlamov’s trial ? Describe.

(b) i) Useany three of the following sentence-linkers in meaningful
sentences of your own. Marks : 3
except for ; perhaps ; as a result ; in conclusion ; at last ;

accordingly.

i) Fill in the blanks with suitable modal auxiliaries (any two) :  Marks : 2

a) | do it, whatever happens.

b) He run a mile in four minutes.

Cc) | comein, please ?

d) He apologise for his mistake.
e) The patient recover.

P.T.O.
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UNIT -1l

Q. No. 2. (a) What does Arthur T. Vanderbilt imply by the expression
‘full-growth’ ? How can a lawyer attain it ? Marks : 9

OR

What can law schools do, to improve the working of the
courts ?

(b) i) Useany three pairs of the following homophones/homonyms

in meaningful sentences of your own. Marks : 3
a) straight/strait

b
c
d
e) sore/soar
f) dye/die.

heir/hair
rear/rare
lose/loose

)
)
)
)
ii) Give antonyms for any two of the following words : Marks : 2

fortunate ; interpret ; harmony ; hearten ; legal.

UNIT -1l

Q. No. 3. (a) What made Gandhiji disillusioned with the British Government
in India ? Marks : 9

OR

‘I had to make my choice’. Which choice is referred to by
Gandhiji and why ?
(b) i) Write a paragraph onany one of the following : Marks : 3
a) Vegetarianism
b) Good health.

i) Write a report on any one: Marks : 2
a) A chain snatching incident
b) Life of children in slums of your city.
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UNIT -1V

Q. No. 4. (a) Where do Bernard Shaw’s sympathies lie ? With the murderer
or constable Gurferidge ? Explain. Marks :

OR

Shaw is of the opinion that the murderer was someone who
was credulous to the marvels of science. Why does he feel
S0 ?

(b) i) Write a dialogue between a traffic police and a pedestrian
seeking directions to ‘Sapna book stall’. Marks :

OR

Write a dialogue between two friends regarding the use and
misuse of the Internet.

ii) Refute the following statement : Marks :
1) Beauty and brains go hand in hand
2) Ignorance is bliss.

UNIT-V

Q. No. 5. (a) ‘Let us prepare a grave both wide and deep and respectfully
inter this hoary proverb, that the law is a jealous mistress’.
What does Joseph W. Planck mean by this. Elucidate. Marks :

OR

The horizon of the law is as broad as human life itself, and
all culture is its domain. How does Joseph W. Planck explore
this view ?

(b) Interpretany two of the following notices : Marks :
a) Silence Zone
b) Trespassers will be prosecuted
c) Nohorn
d) Danger.
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